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Student Exan No.

3CE301/3IT30I: Semantic Web (Dlective III)
Time: 3 Hours
Instructions: 1. Attempt a questions.
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2. Figures to the right indicate full marks.r..Eacn section sh6uld be written in a separate answer book.

eue.t nl Exptain layered upprou.h of rh, ,#_",ltil. 
,

tBl Give the DTD anr
il I rh; ;; ; ;ill.i Jf':.YlofT in c I u cre ro I I owing in rorm ati on :
[2j The content of ,,ordertorm,,-is 

a i,customer,, 
el,rhat order. "cnstomer,, """,;;-^:::*::j:I ,,srcrlrEnr.ano a "producl,' element inrimes. . urto*rr'orrrrr"#;;; ;:Tf#Tl;#rXr:ff,"#il:l;

j:l fiiliJJ'#i;Hy"' 
is rhe "name", "address,, and,'ter,, erements, each

i;j ;i: :::'i.li:i'irr:" :11 ;l'*'ess" is a texr srring
- -- the other occurrt,jli 

't the "por1ab1s" and "home" elements, with either one or
[6] The content of
[7J The content 

""t3j1ll:-:'llo 
"home" is a text string'

occu*ing once ;, lfirol"" 
is the "product-name" 

-and 
"num" elemenrs, each

[8] The contenl of,isirh..."i.;i,i,il,"#,:i-,'";ffi .i:i:T::,,'*.

t6t .
t6l

Que.I tA1

tBl

Que.2 tAl
IB]

tc1

Que.2 [A]

fJfll;;iilrril"ive Semanric w.u stulfso* ir is difrer rrom tayered stack of t6l
Do following using XML_Schema:

:]lfli:fi;i:fillii;,Yff 
that is an integer greater than or equar ro 2,000 and t6l

"' #:'f;XJif ,"$ililii:]y#; :{d;?::Tj,,l #:i;cr 
price "goodspricerype,,

ff,{il''},$,'ffffi'ilflH:;1::::TfJi:i"#ffiiXMloverHrML r3r,,, 
i'[oi(y;**ample.org/index.h,.ti;r;;;;t#ldut. *hor. varue is Augrrsr t2i

jil"rlt;r3:-;l"ample.org/index.html has a language whose varue is English.
ffi!ffi"Jir",lfi,'r:s and core properties 

"rnnr, orr.riu, *" *,,n, properties of 16l
Explain_ Container element ofxertrcation? Give exarnple.

OR
RDF wirh example, Whar do you mean by t51

Page t of3

gn
u.

inf
lib

ne
t.a

c.i
n



tBl A travel agencv offers the folrowing flights: write an xsLT that rists alr flights toRom. And give output like below:

Flighr Lisr

<flights>
<fl ight fro.11' Flankfurr,, to=,,Rom,, starr=,,2004_09_07 09:30,,arival*',2004-09-07 I 0:30,, price=,,70,,r>
<fl ight fro. 11, Flankfurt,, to:, Rom,, startr"2004_09-0 7 09 :00,,anival=,,2004-09-07 I 0:05,, price=,,70,,A
<fl ight fro.m=, Frankfurt,, to=,Tlelsinki,, srart_"2004_09-07 09:50,,an ival=',2004_09 -07 | |:45,, price=,,90,,/>
<flight from="Basel,, to=,,prag,, starr=,,2004-09_07 I 0:15,,
arival="2004_09_07 I I :30,, price=,,60,,A
ftight f19-T-iA 4.n_gu6rn,,'1o="pranf furt,, start=,,2004-09_07 08 : 30,,affival=i'2004-09-07 09:05 " price="55',/>

</flights>

Que.3 [A] Wrire RDF/XML Describing following graph.

lBl write down owl specifications to represent the folrowing knowledge invorvingpeople:
[] Each person is either Male or Female.
[2] Parent is Person with a Child.
[3] Every big farnily person is someone with at least 4 children.
[4] An adult is someone who is at least lg years old,

t41

t81

<? xml version=,'1,1,,?>
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Que.4

Que.4

Que.S tAl

IB]

Que.S tAl

tB1

Que.6 IAI
IB]
tcl

I4l

t8l

IA]

tBl

SECTION-II
What ale the lirnitations of the expressivg power of RDF Schema? Howontology can overconre the limitationjof RDF Schema?
Given the fol lowing RDF tr ip les:

@prefi x foaf: <http://xmlns.com /foaf/O.1 />.
@prefi x rdf :.<hn pl lwww.w3.orgl I 999 /02/22_rdf_syntax_ns#>,
@prcfi x f: hrtp://www.cems.uwe.ac.Lrk/empde Dt/concelt/.<http://www.cems.uwe.ac,uk/empd eptt empt*iZt> rdf:iype f:emp<http ://wwrv.cems.uwe.ac. u k/em pd e pt/ emp /# lZ 1> foaiislrname ..Smittr,,
<http://www.cems.uwe.ac.uk/empdepVemp/#t t3> rdf:type fi emp<http://www.cems.uwe.ac.uk/empdept/emp/#1 I 3> foaf:sumame,.Brown,,<http://www.cems.uwe.ac. uk/empd e pl/ emp/ # I 07 > rdf:type f:emp<http://www.cems.uwe.ac. uk/empd ept I emp/ # l 07 > foais'umame .,Jones,,
<http://www,cems.uwe,ac.uk/empd eptl emp/#107> f:sal I 420
<http://www.cems.uwe.ac.uk/empd eptl emp/# l2l> f:sal 257 0<http;//www.cems.uwe.ac,uk/empdepV.rpZ*t t:, f;sal 730

ttl 
]j1e^i_llanQl 

query that returns the name and the salary of the employee
rnar earns more {han 2000.

[2] Write a SPARQL query that returns the name and the salary of the employee
that earns between 1000 and 3000 inclusive.

[3] Wlite also the result ofthe queries in forn ofa table.

-Exp J ain Monoton ic and Non-monoroniSrTr., with examples.
Write the following knowledge in OWL:
! I A bank has customers.
[2] Customers can be retail customers or business customers,
[3] A retail customer cannot be a business customer; a business customer cannever be a rctail custonrer.
[4] A customer can have a bank account; a bank account belongs to a specific

bank.

Write OWL document to define some named pizzas:
[].Create.a. subclass of,,pizza',, called ,,ilamedpizza,,, and a subclass of

"NamedPizza,, called,,Margheritapizza,'.
[2] Crcats a "Cheesypizza', Class and add a restriction: ,,Ever.y Cheesypizza

must have at least one CheeseTopping,,.
[3] Create a "hasSpiciness,, object property.
How semantic web technology is applied to Elsevier for Horizontal Informationrro0ucrs. ulve probleln, contribution of Semantic Web and the result.

Write the following sratements in OWLO#, university domain:
I l First-year courses-ro be taught by prolessors only.
lll All acaclen)ic staff members nlust teach at least one undergracuare course.(Use lhe leflns' isTaLtght By, and,Teaches' as property .lere"ntr.1
How semantic web technology is applied to Audi fo; Data Integration problem.
Give probleln, contribution oi'Semantic Web and the result.

Explain each stages olonrology development process,
What is DLP? Whar is SWRL?
What is OWL? Explain the sublanguages of OWL,

tAl
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END OF PAPER
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